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7 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D - ~ — — —
s 1.00 | 0.00 ~ 472 5888 | =St | 000 ~ 4.72 | 1.80 9.66 Thlst 1.00 | 5.00 ~ 56.00 58.88 | =nLst | 5.00 ~ 6.00| 1.80 9.66
2 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 747 95,41 | FnS | 000 ~ 7.47 | 2.30 12.33 Thst 1.00 | 6.00 ~ 10.00 95.41 | =4 | 5.00 ~ 1000 2.30 12.33
3 100kN/m##8x5 | 1.00 | 0.00 ~ 061 109.11 |3mZFBZB| — ~ — — — | 100kN/m%#25% | 1.00 | 1053 ~ 1226| 10911 |3m%E#BZ% - ~ — — —
st 1.00 | 0.61 ~ 840 100.00 | #nLst | 0.00 ~ 840 | 2.20 11.79 Thlst 1.00 | 6.00 ~ 1053 100.00 | =hLst | 6.00 ~ 1226| 2.20 11.79
4 100kN/m% %% | 1.00 )| 000 ~ 322 151.48 |3mE{BZ%| 000 ~ 041| 3.24 17.34 | 100kN/m#z#8z25 | .00 | 1087 ~ 2800 151.48 |3mZERBZ5B| 2500 ~ 2800 3.24 17.34
ZhLst 1.00 | 822 ~ 1100 100.00 | #hst | 041 ~ 1100 3.00 16.05 st 1.00 | 6.00 ~ 1087 100.00 | #ndst | 6.00 ~ 2500 3.00 16.05
5 100kN/m%#8Z%5 | 1.00 | 000 ~ 343| 156515 |3mEBZ%| 000 ~ 041| 3.22 17.24 | 100kN/m#£#B25 | 1.00 | 1057 ~ 3202 155,15 |3m&ERBZB| 2500 ~ 3202| 3.22 17.24
s 1.00 | 843 ~ 1121 100.00 | =nLSy | 0.41 ~ 1121 3.00 16.05 Thst 1.00 | 6.00 ~ 1057 100.00 | =nLSt | 6.00 ~ 2500 3.00 16.05
P 100kN/m%E#Bz5| 1.00 | 000 ~ 275 14338 |3m&E#BZB| — ~ — — — | 100kN/miZ#825 | 1.00 | 1070 ~ 2294 143.38 |3m%EEZ5 - ~ — — —
s 1.00 | 275 ~ 1053 100.00 | =nLSt | 0.00 ~ 1053 2.83 16.12 st 1.00 | 6.00 ~ 1070 100.00 | =nLSt | 6.00 ~ 2294| 2.83 156.12
7 100kN/m%E#8z5| 1.00 | 000 ~ 227| 13540 |3m&EBzZB| — ~ — — — | 100kN/m%#825% | 1.00 | 1072 ~ 1954 13540 |3mE#BZS - ~ — — —
FhList 1.00 | 227 ~ 1006 100.00 | =hst | 000 ~ 1006 248 13.30 Fhst 1.00 | 6.00 ~ 10.72 100.00 | =hLst | 6,00 ~ 1954| 2.48 13.50
P 100kN/mZ#8z5% | 1.00 | 000 ~ 206 13192 |3mx#Bz5| — ~ — — — | 100kN/m%E#8z25 | 1.00 | 1062 ~ 1916 131.92 |3mE#EZB - ~ — — —
Thilst 100206 ~ 985| 100.00| ThL4 | 000 ~ 985 | 2.31 12.34 ZnLst 1.00 ] 500 ~ 1062 100.00 | Fhs | 5,00 ~ 1916 2.31 12.34
9 100kN/m%#8z2% | 1.00 )| 000 ~ 1.18| 11775 |3mZx#Bz%| — ~ — — — | 100kN/m%E#8z25 | 1.00 | 1069 ~ 1469 117.75 |3mx#Z3 - ~ — — —
Thilst 100|118 ~ 896\ 100.00| FhLs | 0oo ~ 896 | 2.10 11.25 TnLst 1.00 ] 5600 ~ 1069 100.00| FnLS | 5,00 ~ 14.69| 2.10 11.25
100kN/ M%#2Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
zhsn ~ ZznLst ~ znLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ TnLst ~ ZznLst ~ Zzhust ~
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




